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Determine the critical value for the following functions.
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Determine the absolute max and absolute min for the folIowin functions over the given interval. *
2. f(x) =2x*-3x2-12x+1 over [-2,3]
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Determine the intervals of increasing/decreasing, local max
inflection points (if any).
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4. f(8) = sin(8) + cos(8) over 0 < 0 < 2r o -
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Evaluate the following limits at infinity.
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Using the volume of a sphere formula V = :;-Ttr3.

9. Find the average rate of change of V with respect to the radius when it goes from 5 inch to 8

inches.
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10. What is the related rates equation for the volume of a spl}ere.
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11. If the radius of sphere is decreasing at a rate of 5 inches
for the volume of a sphere when the radius is 12 inches?

ber sec, what is the rate of change
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12. A particle moves along a curve the curve at y = 2sin (%]

point G, 1) its x-coordinate is increasing at a rate of V10

. As the particle passes through the

cm/sec. How fast is the distance from the particle to the orig?\ changing at this instant?
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Determine the linearization function at the indicated points fpr the following functions.

13. f(x) = sin(x) ata =%
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14. Approximate sin (0.48) using the linearization function.
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Verify the function satisfies the hypothesis of the Mean Value

d

Theorem on the given interval and
find the value of ¢ such that the conclusion satisfies the mean

15. f(x) =i over [1,3]

1

) Gy w1

T ) b

T
. |
™ et
B —
2

value theorem.




Math 26| T=St— 3
&
ol P R
= / 2
R
= ol ‘a ks |
ol é(.L ) :Lk/\z 3)
b |
e 0 il 4% =\
o % :
—3- e
N & :(t s S B .
S 2 3
e —4.
= -‘s- et Bt 13-— x 13
- __L_ K6(3 (x ey p &
& —
- RN T
3 Y Svg
{
o) = ki e - tha=0 “+ 1L =0
2 Sz o,
| : (yea-un
T e e MEQ EEN ey
\(gla b 8 E (K:D\ il
? \J
@) P = 2x° — 3x¥—(2x ¢ | [-72,2]
l s 3 = &
dorel = el (i< Bg = thoc %3]
o
o m ok AN )
. (3] - 2ol fat) 11%\—@%
L2 det— ke Sk 4O
- ot — 6w —(2




) = xT— 6y — g
! P ' p ¥ =
o) tlhas= o cut GF G as
& (ot 'L_sx_) TR 5
b Cx ID)0e 4 1) = ¢}
L—"l %] Ce Cep) =9
Fe) = 2> '3x7‘-(‘hc | Y3 >Qi (=0
+ 1 v+ 2 “L -~
+(21) = ()3 i By R s
= K= —|
e
-2 £ s R
flea) = 262y ncaytoa i) .|
P .
fey) = -2)
e (3) = 2 v s R TEL s
£i3) =B
e DN TN e [
i)Yo
— tq \ D
+€t0 M
P > 2260723 D3 eh o+ |
e )
ea = @) ("
N \/




@ fex) = X
T:“_-I»|
deC ety )
\ g
= O<e0) 2‘;/_&1 — e e )
Gty 2
= etibg) il
O )2
= \(.L{—L -;__QL
O Y\
+((x) 3 \ ’“XL 3 ‘Fl“l: e
(e Y
! T
=X ™m0 - seRl g
G2t =0 M y e
b( =+ l\
nageors
:é\! B bl
i t e
S ) T o e
i W N VNS |
P ety :
&) RS




£ e d*e.Cy»eQQ‘% ovrn P, —) UCl)oo)

':' IS lV\CVe\S‘ e, 9\~ L_L) L )
¢ e o yvel Wt ool = |
Qekfeax = POy = N RS
R M 2=
5 hos e vel Mmin R x =—1
el WMwnw = £ = — l e
(Y- 7-

§'tey = <L & Tia) \
) d@—( ') Pl acsi <o ( 0#
o, d» (V.8 w ‘ (Q}S (Qi
ae (<‘ !"\’\:) +%a ')
Fleay = X (®) — Sin (a )
)= 0 L s @)= Sw (bl = O
Svi(@) = &g Vo) 54\40-\'5 |
/ Cow ]
-Lavx[&\_: \
&= I . e W
o S 4~




ey e
4./}:’/. ' } S
E ot © e S | l
] ! } - B bl
9 LA TN | s ! N =
SR e R
- © __
£ ¢ Awfef&‘:% An (Ej%)
£ ¢ tncveasye on Loilwy  AF w5
+ hot o veladyg Wowe  at] x= o
4
reladve MNoe = ‘F'(.—IE) = J’Z* 55 N W
+ hd o Veledve Mmiw at | =60
‘.'..
velakve m,, > £(Su = L s T ——
_‘L‘..' : —“—75‘
Con Cav i by Cor a) LGl = b ’
Wi -
‘Fi(l(l - I
crigr) -
o) = S F et o




e

2 (L &) %

) = (L) F S = ==Y zq.fﬁirﬁa%——

———

CL4x2)

4—

—
——

Ccl 4—:")7’ (-2x) —

L~wt) -2 U +xT) e

C L+

.\4—

-

=2 L et

e (L= wet) § LF};’—)

ClL+

1_)4-

-~ 2% (L +x )[C\

=) 4 2 Gl ]

Cl A2

)4—

= aaihe b L™ 2 — 2
CL%—Q")} ks
fﬁ ) e G 17 3 - vl
24 -\:-\-_.L)B
0l =0 " Laeaeah) 2l
: &=0) -
/E\ L I’Tm < >.t\f_5>\\‘
|
e e B
sl - 1 . ﬂ-&-—ée\u )
PR AT e ML AL 5 B
@ S T L 3




£ 8

CorcCcaye 9P on

(-

£

i<

;90 V(s 00)

Corcaye clguwn O

—

n f’l{ C—“\‘OV\ DO i ¢ q.l
\

(-3, ¢-nR))

¢ O

J

+L£0) )

(], t&RY)

)

Co anALv!.j @ £8) = S (v

P+ cog (w) ooV

Lo, ]

€ (s) <

s (

) —'Snﬂijg)

-{—" a) =

R R e

o N

——

S ¢ S
~

ol

—

ol

,[;coS‘ [@)] . ﬂ; ‘;( \hm—‘!

— S (&)

colS gs)

S9,

f”(‘\-‘— O') ~Swv» (&) —

«r (&) =0

—S% (o) =

o (a)

Sw(a)

-~
—

—

Cog (@)

S (o)

COS(e)

+on ()

€= T,

Q F

a4 7/




) s
/_\‘ \_/\/
G o SN i o0 RS R \ \
4t et H——F (o)
O e . , <l T . A
& Wil S B ARG
£ = « Sty - code)
, AW - o 7
£+ ts WncCave VP on | C%/ ?)
X _ SRR i
£ s Wereewe  clowen own [ L 3w\ g (Fo— 7,17‘\
) R e, v
£  hes yrfleckinm [RSIVTIN (?,‘ £ Lﬂ‘\}}
il
9w g Ty
ST ¥
@ Lewn L= o0
et &P x +i
[, %
‘1"‘” L S \(l ) e ‘/
X =20 3 3 = L T xc
3 Fwd -
' e T A
© lwm (x +{<r2e ) »
<~ —D ‘(’
OO0 -0 nd<edbym,ant
U< 2 (g2l |
Lo ™ £2e) = Lm ® Xxwily = "%
X —ag K~ ~a0
DM‘ \I‘M C}C.\. ‘b‘)_‘_-)_c_) = T 4+ ‘,hdwm,‘l\\k*k
/ 00




v
P N
RT— (2 1&\ - g e el — p T
M o] RT3 X— | k2 2
- e 2N \‘ A A —_— 2% o0
inchedemn, ey,
uSe
e d aly e bye,
W i - xK"‘-k b)‘“.w w"n h""\
< by x
e LY K
lt“’) Bud = %= b |
s =ﬂ% A
- :, X <N
kv s DR F e o x=— {2
\1:7,

= b . ;ﬂ ;\

T S T
emd | 4 [l wo—@ [_qj_—;;i; pite?

l:M (e < % = % x> 2 /
<~ —<0 ——=(—ex)
Ld— 1 - VoW oy [ | U







@ e =5l N el B i e s

dk"’ J O‘-‘t 4
e
+ At
| ow = -pevo T n3 g, |
[ &
5y - g
@3z omlm) FoB S,

A = \\ K W c\ = Xt 4 ASomi(
b EHE
d¥= <t domt (Wx
g b e e d S ((ue|NT]
‘;\: ot L "= }j
24 c\g S 2 dx G © Cw et - COk Cr[ﬁ\'
ot ot =) o
ddd > > & + d Somy mx\|car (gx) . v
at = i bR
Adg = < d-)c 4+ 2W Sivn( e\
=\ at o B B » o
=
M P ('Ji) ') by = \(In 2, we Newct ol ?




d= chcf*c.)‘f (0. ~-9 )2
A= Jci-0)> + (-0) ™=
e A0) o ods o S
o %
RIS .
cl=> “f—__?‘ (, cd=> 1o N
4
S
hictth e Ne e b pnpr Gacf Y, B ) ke
o 2 s i
Sooelel =L .o fam ci il N B X
e 3 bR
- V3o
W0 dd = Vb —r'?-‘nyz:*—\ftsﬁgr\ﬂo
——%— “& -—"3 7 \“ ) / e 1 4
B8 ot = Vo o U e,
S g at p = .
o old = VO 4 G5 W
o 3 2
/ e 8
g% Sl (v ¢ o & \ 3
' Se i i
ed = o R RS
QA S Y¥io
T, W
ctk i




) %o = Si- e =
G
S = Wy e e 1Y
O- f = §) (x—a)
0= GO te-a) § T Cib
f\bc): S () ,', {-’—((q)> :uq(‘n_:') Q)
tileny = 3 = S i)
= = 1 :
=l (e S -
by Bt £ T S i\ ST
L.(\‘)
e
Ve, /]LC\;\;‘ % (K»U_;\-i—— Li
Smioido) N B3 (o d@ela N T
2 e E 5
e O-40 272
W) () fea) = L over |Cy37
My £ = FUy- £ca)
F
b - q
. s 1
i SRR e S ) 0 e oD SRS i,
: bt s PR




M
N
A
i v
g 5
ml n .
| J
3_ o J o
4 ]
I
I\ 2 N
IC I\ % \0/
I L[
+(- ﬂ P \. A
_ AL
T Al i A ps
10 LRI
o N ’
y , L. e
.y ] ’
i\fc \‘0 ; A !
: 1c A I\
. i J J
|
/
{ 4




